
Puzzle #31

NAME:

DATE:

ACROSS DOWN
1. What is the average of these three 1. (23 X 7) X 3 =
    numbers?  409  442  415 2. 4 minutes = ___ seconds
4. 200, ___, 212, 224, 240, 260… 3. 817 X 5 =
6. 200 pints = ___ cups 4. (7 X 5) X 7 =
7. 3 centuries = ___ years 5. 50 gallons = ___ pints
8. 3060 divided by 6 = 9. What is the average of these three
10. 900 – 648 =        numbers?  125  143  134
12. 40 X 30 = 10. (2 X 100) + 2 =
14. 24 hours = ___ minutes 11. (7 X 3) X 10 =
15. 4 minutes = ___ seconds 13. 2 dollars + 1 nickel +
17. (14 X 8) + 100 =            6 pennies = $ _ . _ _
19. Round 942 to the nearest 10. 16. 3 Down + 11 Down =
21. Round 942 to the nearest 100. 17. Tom started his hike at 2:15 p.m.
22. A movie starts at 3:30 p.m. If             He arrived at his destination at
      the movie is 2 hours and 10 minutes             4:30 p.m. How long did he hike?
      long, what time will it be over?            (Answer: _ hours and _ _ minutes)
      (Answer: _ : _ _ p.m.) 18. 14 Across – 12 Across =
23. 6 minutes = ___ seconds   19. $20.00 – $10.97 = $ _ . _ _

20. 3 centuries = 0 _ 0 decades

Skills: review puzzles #1-30 and time measurement (years, decades, centuries)
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